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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. The following details relate to the two machines  

X and Y : 

 Machine X 

(`) 

Machine Y 

(`) 

Cost  2,24,500 2,24,500 

Estimated Life  5 years  5 years 

Estimate Salvage Value 12,000 12,000 

Annual Income after 

tax and Dep. : 

  

1st year  13,500 45,500 

2nd year  21,500 37,500 

3rd year  29,500 29,500 

4th year 37,500 21,500 

5th year  45,500 13,500 

Overhauling charges at the end of 3rd year ` 1,00,000 

in case of machine X. Depreciation has been charged at 

straight line method. Discounting rate is 10%. P. V. F. 

at 10% for the five years are :   

Year P. V. F. 

1 0.909 

2 0.826 

3 0.751 

4 0.683 

5 0.621 

Using present value method, suggest which machine 

should be chosen.  
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fuEufyf[kr fooj.k nks e’khuksa ,Dl rFkk okbZ ls lEcfU/kr  

gSa % 

 Machine X 

(`) 

Machine Y 

(`) 

ykxr 2,24,500 2,24,500 

vuqekfur thou 5 years  5 years 

vuqekfur dckM+ ewY; 12,000 12,000 

dj o kl ds ckn okf‛kZd 

vk; 

  

1st year  13,500 45,500 

2nd year  21,500 37,500 

3rd year  29,500 29,500 

4th year 37,500 21,500 

5th year  45,500 13,500 

e’khu ‗X‘ ij rhljs o‛kZ ds vUr esa vksojgkWfyax pktsZt  

` 1]00]000A lh/kh js[kk i)fr ls kl dkVk x;k gSA 

dVkSrh nj 10% gSA 10% ij ik¡p o‛kks± ds fy, ewY;  

dkjd gSa % 

Year P. V. F. 

1 0.909 

2 0.826 

3 0.751 

4 0.683 

5 0.621 
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orZeku ewY; jhfr dk iz;ksx djrs gq, le>kb, fdl e’khu 

dks pquuk pkfg, \ 

2. What is Project Planning ? Explain its objectives and 

process.  

ifj;kstuk fu;kstu D;k gS \ blds mís’; ,oa izfØ;k dh 

foospuk dhft,A  

3. What is meant by the term ‗leverage‘ ? How would 

you compute the degree of operating and financial 

leverage ? Explain with appropriate example.  

^mŸkksyd* ls vki D;k le>rs gSa \ ifjpkyu ,oa foŸkh; 

mŸkksyd dh x.kuk vki fdl izdkj djsaxs \ mnkgj.k lfgr 

le>kb,A  

4. What do you understand by Working Capital ? Explain 

the sources of Financing Working Capital.   

dk;Z’khy iw¡th ls vki D;k le>rs gSa \ dk;Z’khy iw¡th ,oa 

foŸkh; O;oLFkk ds lzksrksa dh O;k[;k dhft,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Kisan Ltd. has issued 600 equity shares of ` 100 each 

as fully paid. The market price of these shares is ` 80  
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per share. The company has paid a dividend of ` 5 per 

share. Find out the cost of equity capital.  

fd’ku fy- us 600 lk/kkj.k va’k iw.kZnŸk fuxZfer fd;sA bu 

va’kksa dk cktkj ewY; ` 80 izfr va’k gSA dEiuh us ` 5 izfr 

va’k ykHkka’k Hkqxrku fd;k gSA lerk va’k i¡wth dh ykxr 

fudkfy,A  

2. The total amount of capitalisation of a newly set up 

company has been fixed at ` 1,00,00,000 by the 

promoters. The current rate of capitalisation in the 

market for similar companies at 15%. What level of 

income in rupees should the management of the 

company earn so as to give to the investors the benefit 

of the current rate of return (prevalent in the market) 

on capital employed ? 

izorZdksa }kjk uohu LFkkfir dEiuh ds fy, dqy i¡wthdj.k 

dh jkf’k ` 1]00]00]000 fu/kkZfjr dh x;h gSA cktkj esa mlh 

izdkj dh dEifu;ksa ds fy, iw¡thdj.k dh nj 15% gS] rks 

crkb, fd dEiuh ds izcU/kdksa }kjk fdruh vk; izfro‛kZ 

mikftZr dh tk;s fd os fofu;kstdksa dks cktkj ls izpfyr 

nj ls izR;k; ns lds \ 

3. Explain the objectives and importance of Financial 

Management.  

foŸkh; izcU/k ds mís’; ,oa egRo dh foospuk dhft,A  

4. ―The success of a corporation depends on its well-

planned capital structure.‖ Examine.  

ß,d fuxe dh lQyrk lqfu;ksftr iw¡th lajpuk ij fuHkZj 

djrh gSAÞ ijh{k.k dhft,A  
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5. Explain the role of capital budgeting in investment 

decision-making.  

fofu;ksx fu.kZ;ksa esa iw¡th ctfVax dh Hkwfedk dh foospuk 

dhft,A  

6. Explain the nature and scope of Management of 

Income.  

vk; ds izcU/k ,oa {ks= dh foospuk dhft,A  

7. What is Economic Order Quantity ? How is it 

calculated ? 

ferO;;h vkns’k ek=k D;k gS \ bldh x.kuk fdl izdkj dh 

tkrh gS \ 

8. Discuss the factors affecting receivable. 

izkI;ksa dks izHkkfor djus okys rU=ksa dks crkb,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, %  

1. Managing a firm‘s finance is both Art and Science.  

     (True/False) 
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fdlh dEiuh ds foŸk dk izcU/k dyk Hkh gS vkSj foKku HkhA  

    ¼lR;@vlR;½ 

2. Study of Financial Management is useful for 

shareholders.  (True/False) 

foŸkh; izcU/k dk v/;;u va’k/kkfj;ksa ds fy, mi;ksxh gksrk 

gSA    ¼lR;@vlR;½ 

3. Capitalisation includes ownership capital. (True/False) 

iw¡thdj.k esa LokfeRo iw¡th ‘kkfey gksrh gSA ¼lR;@vlR;½ 

4. Capital budgeting means cost benefit analysis for 

capital expenditure proposals. (True/False) 

iw¡th ctfVax dk vFkZ gS iw¡th fuos’k izLrkoksa dk ykxr&ykHk 

fo’ys‛k.kA   ¼lR;@vlR;½ 

5. The cost of capital is helpful in determining the capital 

budgets.   (True/False) 

iw¡th dh ykxr dk fu/kkZj.k iw¡th ctV fu.kZ;ksa esa lgk;d gSA

    ¼lR;@vlR;½ 

6. A company which has no fixed cost, has no operating 

leverage.   (True/False)  

,d dEiuh ftldh fLFkj ykxr ugha gS] mldh ifjpkyu 

yhojst Hkh ugha gksxhA   ¼lR;@vlR;½ 

7. There is no difference between interim dividend and 

final dividend. (True/False) 

vUrfjr ykHkka’k ,oa vfUre ykHkka’k esa dksbZ vUrj ugha gksrk 

gSA    ¼lR;@vlR;½ 
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8. Operating cycle methods is used for computing 

working capital. (True/False) 

lapkyu pØ fof/k dk;Z’khy iw¡th dh x.kuk dh fof/k gSA  

    ¼lR;@vlR;½ 

9. Cash receipts and cash payments are included in cash 

budget.    (True/False) 

jksdM+ ctV esa jksdM+ izkfIr;ksa ,oa jksdM+ Hkqxrkuksa dks ‘kkfey 

fd;k tkrk gSA   ¼lR;@vlR;½ 

10. Strict credit policy results in increasing bad debts.  

     (True/False) 

dBksj lk[k uhfr ds ifj.kkeLo:i vizkI; _.k esa o`f) gksrh 

gSA    ¼lR;@vlR;½ 
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